N-W.E.P UNIVERSITY OF ENGINEERING & TECHNOLOGY PESHAWAR
Mid-Term Examination 6'h Semester (Spring-2008) Reinforced Concrete Design-I (For All Campuses)
Max.Marks: 50
Time Allowed: 21/, Mrs.
Note: Attempt all questions &. draw neat sketches. Programmable calculators are not allowed.
Q: 1) Briefly explain the Whitney's stress block for a reinforced concrete rectangukir
section. Derive with the help of this block an expression for flexural strength of ;i
singly rectangular beam section.
(10)
Q: 2) A beam having width 12" and depth 21" carries a service live load of 1.5 K/ft &
dead load of 2 K/ft in addition to its self weight over a simple span of 24 ft. Using
fc' - 3000 psi & fy = 60,000 psi, calculate the flexural steel requirement for the
beam section at mid-span.
(15)
Q: 3) Design a cantilever rectangular concrete beam for flexure having 18 ft span length.
The beam is supporting a live load of 1 K/ft & a dead load of 1.25 K/ft in addition
to its own weight. Use fc' - 4000 psi & fy = 60,000 psi.
(10)
Q: 4} A tensile-reinforced T-beam is to be designed to carry a uniformly distributed load
on a 20 ft simple span. The total moment to be carried is Mu = 5780 in-Kips.
Concrete dimensions are be - 20", bw - 10", hf = 5", and d = 20". If fy - 60 Ksi
and fV :: 4/Ksi, what tensile reinforcement is required at mid-span? Select
appropriate reinforcement to provide this area and check concrete cover
limitations, assuming No.3 stirrup. What total depth lh' is required?
(15)
